Currency Conversion 1

Mrs Moore, Mrs Kerr, Mrs Adlard, Mrs Callan Mrs Smith



I can exchange Pounds to Euros and vice versa.

This is the conversion rate rounded up as of April/2020

£1 = €1.10



To exchange Pounds to Euros multiply by the exchange rate

£1 = €1.10 £10 =10 x €1.10



- 1) How many Euros do you get for £2?
- 2) How many Euros do you get for £3?
- 3) How many Euros do you get for £4?
- 4) How many Euros do you get for £5?
- 5) How many Euros do you get for £6?
- 6) How many Euros do you get for £7?
- 7) How many Euros do you get for £8?
- 8) How many Euros do you get for £9?



- 1) £2 = 2 × 1.10 = €2.20
- 2) £3 = 3 × 1.10 = €3.30
- 3) £4 = 4 × 1.10 = **€4.40**
- 4) £5 = 5 × 1.10 = **€5.50**
- 5) £6 = 6 × 1.10 = **€6.60**
- 6) £7 = 7 × 1.10 = **€7.70**
- 7) £8 = 8 x 1.10 = €8.80
- 8) £9 = 9 × 1.10 = **€9.90**



- How many Euros do you get for £10
- How many Euros do you get for £20?
- How many Euros do you get for £30?
- How many Euros do you get for £40?
- How many Euros do you get for £50?
- How many Euros do you get for £60?
- How many Euros do you get for £70?
- How many Euros do you get for £80?
- How many Euros do you get for £90?
- How many Euros do you get for £100?



- 1) £10 = 10 × 1.10 = €11.00
- 2) £20 = 20 x 1.10 = **€22.00**
- 3) £30 = 30 × 1.10 = **€33.00**
- 4) £40 =40 × 1.10 = **€44.00**
- 5) £50 = 50 × 1.10 = €55.00
- 6) £60 = 60 × 1.10 = **€66.00**
- 7) £70 = 70 × 1.10 = €77.00
- 8) £80 = 80 × 1.10 = €88.00
- 9) £90 = 90 × 1.10 = **€99.00**
- 10)£100 = 100 × 1.10 = **€110.00**



£1:€1.10

Let's make it a bit harder. Use long multiplication. Count the number of decimal places that you need in your answer. Do not put your decimal point in until the end.

- How many Euros do you get for £11?
- How many Euros do you get for £13?
- How many Euros do you get for £15?
- How many Euros do you get for £19?
- How many Euros do you get for £17?
- How many Euros do you get for £12?
- How many Euros do you get for £14?
- How many Euros do you get for £18?
- · How many Euros do you get for £16?
- How many Euros do you get for £20?



- 1) £11 = 11 \times 1.10 = €12.10
- 2) £13 = 13 × 1.10 = €14,30
- 3) £15 = 15 \times 1.10 = €16.50
- 4) £19 = 19 × 1.10 = €20.90
- 5) £17 = 17 × 1.10 = €18.70
- 6) £12 = 12 × 1.10 = **€13.20**
- 7) £14 = 14 × 1.10 = **€15.40**
- 8) £18 = $18 \times 1.10 =$ €19.80
- 9) £16 = 16 × 1.10 = €17.60
- 10)£20 = 20 × 1.10 = **€22.00**



£1: €1.10 Now try these. Use long multiplication

· How many Euros do you get for £55?

How many Euros do you get for £68?

How many Euros do you get for £43?

How many Euros do you get for £35?

How many Euros do you get for £29?

How many Euros do you get for £72?

How many Euros do you get for £91?

How many Euros do you get for £39?

How many Euros do you get for £86?

How many Euros do you get for £45?



- 1) £55 = 55 × 1.10 = **€60.50**
- 2) £68 = 68 × 1.10 = €74.80
- 3) £43 = 43 × 1.10 = **€47.30**
- 4) £35 = 35 × 1.10 = €38.50
- 5) £29 = 29 x 1.10 = €31.90
- 6) £72 = 72 × 1.10 = €79.20
- 7) £91 = 91 × 1.10 = €100.10
- 8) £39 = 39 × 1.10 = **€42.90**
- 9) £86 = 86 x 1.10 = €94.60
- 10)£45 = 45 × 1.10 = **€49.50**



£1: €1.10

Now try these. Use long multiplication. Multiply the number of pounds by 1.1 which is the same as 1.10

LOOK at the example below

1	6	5.	0
1	5	0	0
	1	5	0
		1.	1
			Χ
	1	5	0



£1: €1.10 Now try these. Use long multiplication. Multiply the number of pounds by 1.1 which is the same as 1.10

- How many Euros do you get for £180?
- How many Euros do you get for £220?
- How many Euros do you get for £330?
- How many Euros do you get for £380?
- How many Euros do you get for £295?
- How many Euros do you get for £572?
- How many Euros do you get for £970?
- How many Euros do you get for £439?
- How many Euros do you get for £886?
- How many Euros do you get for £545?



- 1) £180 = 180 × 1.1 = €198.00
- 2) £220 = 220 × 1.1 = **€242.00**
- 3) £330 = 330 × 1.1 = **€363.00**
- 4) £380 = 380 × 1.1 = **€418.00**
- 5) £295 = 295 x 1.1 = **€324.50**
- 6) £572 = 572 × 1.1 = **€629.20**
- 7) £970 = 970 × 1.1 = **€1067.00**
- 8) £439 = 439 x 1.1 = **€482.90**
- 9) £886 = 86 × 1.1 = €974.60
- 10)£545 = 545 × 1.1 = **€599.50**



Now make a conversion graph like the one below. Label both axes. Remember numbers go on the lines!

